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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Name of the Test

Local Fund Audit Department Test -
Commercial Book - keeping (Without | 064 A2¢ .0 §
Books)

Maximum Time: One and Half Hour/" Maximum Marks: 60 ,~

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
QaTeTGM euens N6 S Gmer

Read the following instructions carefully before beginning to answer the
questions. . : ¢
MeTseEp&HE el WeléEsd QSTLRiGL ey SD&ESHEIL 26y eMTSH6 611d
SHEUTLONSL LG &H&H6)LD.

1. This computer based Test contains 60 number of questions in objective Type.
Qnss safall aufls CaiauTarg), 60 ASTAMGN aumMBUNONET eNTTEHEEM6TS

ClEHTETTL 8.

2. Answer all questions. Each question carries one mark
SDMGF NMESE@EGL el welbsad @aQamrm ollamab
LOSHICLIET 2_enL_LLIG).

3 In case of doubt, English version is the Final.
alleméseled  gHCHEHL QGUNHT gYRHe  eugeNed Qar@GéasUulBeren
elleméaGer @myHime ).

4. Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

Qhs efemsseafisd @Lib QummisTen oy 6sm uredlerd geuflelt eumydems sefled
Copamauliligelr,  HWEIECHNHU  Quetl  Lmedlers s euiflsir QUMTS6MS &(EHLD
SILRIGLD.

5. Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:

allmeiugmyiser sl s Csialns alloLwelléss QFHMLmIGLD
Wweir  safaflluler  SHanuied Cameimih  SINeYmIHMeT  SHEURTLOTSL]
Lilg- &&6)LD.

a) One question will be displayed on the screen at a time.
@Gy Chrrsded @ elerm L HCL seafls Heanjuied Csmermid.



00%

On the acceptance of a bill the acceptor debits
@ LIHNEELH ghslu@b Hlewule ghurert @earg sarsded LD e@eulILmT?
(A)#” Payee Alc
QumueT &/
(B) Creditors A/c
sLapGsTT &/
(C) Bills payable A/c
Qegssn&Tu LIHNEF 6 &/
(D) Bills Receivable A/c
Quush@Nw LIHNEFF O &/6

Which one of the following errors are not revealed by the trial balance?
Qereupeuaraupbled @prumieie QeuafliuLmg Genp 6g?
(A)” Compensating errors
J/ rOFL G
(B) Errors of commission
Q&unYenip
(C) Wrong balancing of account
sasHeaar FupTs @By sLHgD
(D) Wrong totalling of an account
Seupmen Fa(Hge

Which of the following are of capital nature?
Gemeumauaraupled papeflar cuamsmwé Ceibsg) ?

(A) Purchase of goods
Qamerepsed

(B) Repair charges
upgumTiL Geoey

Sy Wages paid for installation of machinery
Qupdrses Hnejeugdarar sl

(D) Rent for the factory
DL GUTL DG
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4, Which is the Direct Tax among the following?
YereumeuaraupBled Crrg eufl el erg?

(A) Excise duty
seomed euffl
(C) Sales tax
eflpuener eufl
i Contra entries are made only when

(B

(D)

Income tax
au(mmer auffl

Service tax
Caaneu cufl

adiriudeyser Geraumbd @b pralgsmsllaGurg LW QewwtiuBH&pg

(A)
@ musd Qrnés @ ufeysafled

Double coloumn cash book is prepared

Triple column cash book is prepared

B

‘/ wuusd Qurés gl @ ufesafla
(C) Simple cash book is prepared
@ LSH Qrrés 6Liged

Petty cash book is prepared
foewenn QInés el ig e

(D)

6. The balance of petty cash is
fowop Qs gluda Gnd Qouy 6

(A) An expense
Qe
(C) An asset
Qansg)
7 Journal is a book of

GNUCUE eretugl
Qy original entry
(paerenll Lgley

(C) secondary entry

giemenTll Lfley
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B)

D)

(B)

D)

An income
eu@mrrasrab

A liability
Qumrmiyy

all cash transaction
Smasg QUTEs HL6UGEMESHET

all non cash transaction
Siansg @QIrEsLHD HLelysmEseT



10.

11,

The accounting equation is based on
semd&flwed swearur® Gsmar IigliumLwnsd Qarer g

(A)f Dual aspect
@rlen semeno

(B) Business entity
eflwrumy Hlpeuard

(C) Going concern
Blenemmid Ferepio

(D)  Profit or loss
@emu BLLID

Good will is an example of
BHQuwWRer (RS ISESTH

(A) Tangible Real A/c (B) Personnel A/c
Leoarmasdngw Qensg samés, S ETETIT SHETh(E,

(C) Nominal Alc y Intangible Real A/c
Quuwrere| sawTdd, yoarmasd Qensgs samsE

If Babu started business with a capital of Rs. 50,000/- in the journal
&m. uTy @5.50,000/- paIL_er Gamfle Qg ridanme

(:fy Cash A/c is to be debited (B) Capital is to be debited

Qyrés &)@ UHM WPs® &/& Upm

(C) Cash Alc is to be credited (D) Babu A/c is to be credited
Qrrés &/ eurey UMYy &/ @& eUe]

On 01.04.2017 total creditor A/c Bal. is Rs. 70,000/-. On 31.3.2018 balance is Rs.
1,81,000/- cash paid to creditor during the year is Rs. 29,000/-. Then credit purchases during

the year is

upue sLatbGgmr @@Ly €1.04.2017 £5.70,000
31.03.2018 ¢h.1,81,100

sLalbCaN(méE jcueurean® Cegsdu Qrméshd h.29,000

arafled, jeueumeRTIq 6 HL 6 ClETeTIpSed

(A) Res. 99,000 (B) Rs. 2,51,000
15.99,000 &5.2,51,000
( Rs. 1,40,000 (D) Rs. 2,10,000
¢5.1,40,000 (.2,10,000
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12.

13.

14.

16.

Select the Personal A/c from the following
Gereupeuaraupiled Bpetant samsans Coiey CFiis

(A) Sales Alc (B) Machinery Alc
elhuene &emré @, Qupdlr searés

(C)yf Bank Alc (D) Salary Alc
umdl sewrdE FLDLIGT HEnTd(S

Select the Nominal A/c from the following
Quuwrerey samsdlamar GCsire| GFus.

(A) Bank Alc (B) Raju Alc
el ST TIEI &6RTdE

(C) Furniture Alc ( Discount allowed
DI DDEHET SHEMT (S semenLlg 2leflsss

Select the Real A/c from the following
Qenggé samsdlaer Cxirey Cais

(A) Sales (BY Building
efHuener '/ &L lgL LD
(C) Salary (D) Bank A/c
FhUeTLD cuaidl HewTd(E

If sale value exceeds the book value of an asset, then it is a/an
dpueer eleme GQersden e wHrmL 9L HHED QHBSTD Sig R

(A) Income (BY Profit
QU(THLOTETLD @emruib

(C) Loss (D) Asset
BHLLD Cersg)

Profit on sale of a Fixed Asset is to be debited in
Hlevws Qengg efhuaande e Gerub ubpm DelwtLBD seTéE

(A Fixed Asset Alc (B) Depreciation A/c
Penas Qensg saréE Cauwiorer semés,

(C) Trading Alc (D) Pand L Alc
eflwruny senré s, @eru B Seurés

008/DD/21 6



17.

18.

19,

An estimate of assets and liabilities as on date is called
em GHudie prefled swurfsstiu@b  Qersgy  Qummiiy  <Plsews Qeeury

D@ P&SILHEDS)
(A) Dbalance sheet
Bouy Bleed GHluy
(C) statement of capital
WEH SiPsEns

(BY statement of affairs
Hlenew 2ihlsens

(D) trial balance
@ uiumiey

Under the networth method any additions to capital during the accounting period

must be

&7 WUy penpulled =i T 6HT @ wlieru 2 witsdHermed, Hener
¢p b5 pegell (PG & &

(A) added to profit

@eruggern sl L Ceuar®ib

(C) added to capital

WpsQIL6r dal L Geuer(id

Calculate the missing figure :
Profit

Capital at end

Additional capital

Drawings

Opening capital-?

W subtracted from profit
Qarus(mhg sflés GCeuamHibd
(D) deducted from capital
WEO (g HP&s Geua@ib

Rs. 2,400
Rs. 8,000
Rs. 2,000
Rs. 1,200

SpssamL deauymseia@mhg odOuLL s Caiay Caws

@emruib

Bud s
G (HBD (PSS
ey

PSS ETLD
(A) 30,000
(C)f 4,800

¢p.2,400

¢p.8,000

f5.2,000

@5.1,200
?

(B) 3,000
(D) 23,000
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20. Premium received on issue of shares is a
L@ Geuefluiiiiged Qubp penarod @b

(A Capital receipt (B) Revenue receipt
Wselar au(meum au(meumudlar cu(meuT

(C) Deferred capital receipt (D) Deferred revenue receipt
Beruwer pgedlar aupeuml Beruwen eu@peuruiiar auHeum

21. If a cheque sent for collection is dishonoured, debit is given to
andbe au@dss QsgissiulL &Gt LHSSIULLTD  eanD ST &6

uhH@DpsLILGLD

(A) Supplier’s Alc (B) Bank A/c
aupmi@guelfler &/@ unidl &/

(C) Sale Alc (D) Customers Alc
epuener &/ QUG HESWITETHET &/ (8

22.  Single entry system maintains
ghepls ey pepulled LWETUHSSILOD SETEEGSET
(A) All kinds of accounts
DIDATEHG) &6WTEEHS6T
gy Only personnel and cash accounts
< ETEmiT LHMD QUTEs SeésHEGaeer
(C) Only cash accounts
Qyrés sewrd@ WL (HILD

(D) Only personnel account
SLETETT HewTdE WL (HID

23. A bank reconciliation statement is prepared by
uid sfésl Qb ULl gud @eaurtd surfssiuBéng

(A) Bank (B) Debtors
eunudl SLarmeflser

(.(y Business (D) Creditors
efwrury Hlmeuertd sLabGgmT

008/DD/21 8



24.

25.

26.

When money is withdrawn from bank, the bank
i ded (pbg eumgs@swneri Larmd eTHSSe|L 6, aumkiduITeD

(A) Credit customers Alc
QMg EE@ESWITETT Samédled eure| er(pslLiBIb
(BYf Debits customers Alc
QMg S@SWTeTT samédled Lupn erpsUUGLD
(C) Debit and Credit customers Alc
aumgSeaWITeTt Serédld LHY WHMID eugey erpsuubIDd

(D) Debit Bank’s Alc
curd sewsdled ubHm eT(psULIGILD

Debit balance in the bank column of the cash book means
Qrrésts ussssHar aumd usHuiar LHD GEBUY eTaTUS)
(A) Debit balance as per bank statement
aund QoG yarug ubm G wmUyY
(B) Overdraft as per cash book
Qurés Lssasderuig Godeaiay LbHD
(C) Credit balance as petty cash
Hoeern Qrrés elger aure) QEHUY

(‘Iy Credit balance as per bank statement
auid QeGal yer aure] @nmUY

A bank reconciliation statement is prepared with the help of
auiid sféas G Uligud Gser 2 gellujL e surfés’iuGEpsg!
(A) Bank statement
gl QeCGa(
(B) Cash book
Qyré&sls LSseEb
(Ely Bank statement and bank coloumn of the cash book
aid QsoCa whmb Qrrés Lsss eumd uss

(D) Petty cash book
Hoewenp Qrrés b
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27. If the debit and credit aspects of a transaction are recorded in the cash book, it is
o pLagsesar LDy P e Hdu GEsaewsEpd CrTEs LD
LHWLLL LT DG @

(A) Compound entry (B) Single entry
sl B Ul gheop uflel

(C) o Contra entry (D) Simple entry

\/ erdli ugey eraflu LFey

28.  Which of the following is recorded as contra entry?
Gemaumeuareupded g erdlir’s uday?

(A)f Withdrew cash from bank for office use
SQIees LU igh&ers eukduiadmhg Lamd ahSse

(B) Withdrew cash from bank for personel use
Qamps LweTUT g Hans eunduildbbg LD ahSSe

(C) Direct payment made by the customer in the bank A/c of business
fpeuer ekl sasSHE aUMgsmewTaTyme Cpyiqwns Lewd CegibsiLLL g

(D) When bank charges interest
aundl sl Lewmbd curudlumed sfléslulL gl

99.  Financial position of a business is ascertained on the basis of
Ppeuasder 5 Hlaeoamn Gger apwb QsflwemEng.

(A) Journal (B) Trial balance
G&HMUGLE @muumie,

(‘(y Balance sheet (D) Ledger
Qmuy Hened GHluy CGuGr®

30. Accounting equation signifies
sesdlwe goarun® GOuug

(A)# Assets of a business are equal to the total of the capital and liabilities
Aururysder Qensgsser, (PFe LHYD GUIYLLSEREES &

(B) Capital of a business is equal to assets

Apeuarsden paed sipHipeuan (&Tsg&sEhée 00

(C) Liabilities of a business are equal to assets
AneiargSar Qurpiiyser fipeuar (eTsgés@hé@ FowW

(D) Capital of a business is equal to liabilities
Hneuargder 1psed Hpeuar GUINILLSEEEES FOD

008/DD/21 10



31.

32.

33.

34.

A firm has assets of Rs. 5,00,000 and the external liabilities of Rs. 3,00,000. Its

capital would be
Bmeuansden Cgrsg saer (r5.5,00,000

QummLiyger ¢rp.3,00,000

aafled fimeuargder wpse

(A) Rs. 8,00,000 (ByY” Rs. 2,00,000
¢%5.8,00,000 5.2,00,000

(C) Rs. 1,00,000 (D) Rs. 4,00,000
em.1,00,000 e.4,00,000

A firm has an assets of Rs. 1,00,000, its capital is Rs. 20,000, Its liabilities would be
Hmeuarsler Censg sser ¢5.1,00,000

LPSeD .20,000

erafled QummILiL&erT

(A Rs. 80,000 (B) Rs. 1,20,00
(5.80,000 (5.1,20,000

(C) Rs. 1,00,000 (D) Rs. 20,000
¢m.1,00,000 (5.20,000

Which one of the following is representative personnel a/c

Qereumeuameupdler GrdblSlsgien yeteni &/@ e1g?

(A) Building A/c W Outstanding A/c
&ligL 1D &/ Hlayenel sbLer &/(S

(C) Mahesh Alc (D) Balan & Co.
wlsey &/ LITGENT &/ (&

Prepaid Rent is a
penanl g Qs euTL_ens eTeTLg)

(A) Real Alc (B) Nominal Alc
Cengg &/ QuuireTey &/

(C) Personnel Alc W Representative personnel A/c
W ETETT &/ (G Qrdflflsgien yerant &/

1 008/DD/21
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35.

36.

37.

38.

The incorrect accounting equation is
seuprar sesSlwed) Fwerum®

(A) Assets = Liabilities + Capital
Qerggdaer = QUIMILLSET + (PSED

(B) Assets = Capital + Liabilities
Qenggsaer = P + Qurpuyser

(C)y” Liabilities = Assets + Capital
Qumpiiser = GeTsg&86T + (PO

(D) Capital = Assets — Liabilities
WPe® = QerdgisaeT — QUIYULSET

The amount brought into the business by the proprietor should be credited to
o fewwuremmd Osnfgss Gasrar® eriu@b Cgrasss eure| beluuu@eg

(zy Capital A/c (B) Suspense Alc
P &/ TS G &/

(C) CashAle (D) Drawing Alc
Qrrés &/@& ahuy &/

The total of the debit side of the ledger Rs. 1,00,000, total of the credit side of the

ledger Rs. 65,000, balance of Rs. 35,000 would be
GuGrger uHH @@L @5.1,00,000 aiTey @®BUY 5. 65,000 aafled Bgperer ¢m.35,000

(A) Credit balance (l.3y Debit balance
aurey oBUY uby GUY

(C) Nil balance (D) Debit and Credit balance
Qouy Yo upm wHmIb eirey GBUY

The trial balance contains the balance of
@rumie] SPEERTL THe SEMEGHEET 2 6TaTL&GID

(A) only personnel Alc (B) only real Ale
DETETIT ST (S L (HID Qergg sewréE WL(HD
(C) only nominal Alc (‘D/ all accounts

Quuwigeray HerTd@ L (HILD SIMATEF) &S GS @D

008/DD/21 12



39.

40.

41].

42.

The difference of totals of both debit and credit side of trial balance is transferred to
@muumieder uppi usHufen Qursswnd eyt usdular Qurgspbd GeaugulLmd,
igamar aTHE05Ws Ceuaigu s@ETss

(A) Trading Alc (B) Difference Alc
flwruny &/ sHuing &/@

(C)ff Suspense Alc (D) Miscellaneous Alc
SXTDES &/ @57 saTE®E

Errors of principle arises when
effiGenlp eraLg)

(A) there is complete omission of a transaction
@ bLalgbms WPewwns elHubge
(B) there is a partial omission
pLeugs@maular @m UGS hLOSD
(‘(y distinction is not made between capital and revenue items
wsdlar whpid amamder Caugur® dPlwurg ube
(D) there are wrong postings and wrong costing
sauDTE d(HSCS(PHD LHMID SeuDTET Fa(HISED

The total of purchase book has overcast. Which of the following accounts should be
debited in the rectifying journal entry?

QareTapsd B @MmBHD AFELIE  Fal L LLLLTED, Gemau@pd  ahg  sedld
uH@ppsiuL Ceuam@id ?

(A) Purchase Alc (\B)/ Suspense Alc
QamaTpssd &/ SATEG &/(&

(C) Creditor Alc (D) Purchase Return Alc
sLaTbCHTT &/(& Qaretupsed HHULLD &/@&

Wages paid for installation of machinery wrongly debited to Wages A/c is an error of
Qupdlyb Hpes@ssTar s, SeUDISONS Fadd GamEHd LHM @euEsSILLLE. @& R

(A) Partial omission By Principle error
uEd @G frdentp
(C) Complete omission (D) Duplication
W Ay @rie Genp
13 008/DD/21
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43. Sales book is overcast by Rs. 200/- which of the following is correct rectification

process?
Apuemar Gligd SopTs m.200 HsLTs smiLiulL Gaeumd ufesaiie 2 fu
Hppsliudle) erg 2
(AYf Debiting Sales A/c by Rs. 200/-
puenar sarsfd @5.200/- uHD meauds Ceua(Ibd
(B) Debiting Sales A/c by Rs. 400/
MpLener sexTé&Hd @.400/- DM meuss Geuar (b
(C) Crediting Sales A/c by Rs. 200/-
Apueer sewsdled g5.200/- e (s Geuakm(Hb

(D) Crediting Sales A/c by Rs. 100/-
Apuenar sawsdld . 100/- afe) e GCeuam{id

44.  Under the Written Down Value method of depreciation, the amount of depreciation

1s
Gophg Ced wHUSLE epapuie. Couwras Agrms, HaTHEES

(f\y uniform in all years (B) decreasing every year
@Cr wrdfl @QméeEwn Y@ HCETHID GO
(C) increasing every year (D) no change

2 @THCsTHID B &EMEED LOTD TS

45. Depreciation is provided on
Gauwinrand Gger Bg semsdLLiLGADS)

(A) Current assets (B) Outstanding charges
By QErggser H@iena ai(HLTarb&ET

(C) All assets (DY Fixed assets
Smansg Clensgéeen flenas Cerggsaer

46. A firm purchased a plant for Rs. 95,000/ and its erection charges is Rs. 5,000/- after
the effective life of 10 years scraped for Rs. 20,000/-. Rate of depreciation under

Straight Line Method would be

@uibdyb 5.95,000/- &@ @rislUL® Bpeb Gswel .5.000/- QeeeilulL g
10 epahadr e LGuIssHNE YnE GubS b 5.20,000/-6@E fpsuulLg. CrrGam @
wepuid Caiiwrer efélgb

(A)  10% @/ 8%

(C) 20% (D) 25%

008/DD/21 14



47.

48.

49.

50.

Interest on bank deposit is a
aumdl eeulsGan Sgmer aullg @

(A) Capital Receipt (B)# Revenue Receipt
psedlar eu(meum au(Heumuiler eu(meumul

(C) Capital Expenditure (D) Revenue Expenditure
wadlar Qgway aupeuruier Ceway

Net profit of the business increases the
Har @erub @sdr wHudoear e wisHEDS

(A) Drawings (B) Receivables
LY QUEISEOSET

(C) Debts (D) Capital
&L_GOT&ET (PGS

Current asset does not include
By Qersdle L mansg

(Ayf Furniture (B) Cash
SN EEET Qym&asDd
(C) Stock (D) Prepaid expenses
&r&El(miLY pensnl lg Qegisdlu Cewaser

Closing stock is valued at
Qndé sys&HHy @eueunm wHud i@ éps
(A) Cost price

9|L_&& elenaulled

(B) Market price
sheng elleraudle

(C) Cost price or market price whichever is higher
SILES e () shas dlow, @ramngd sfsworear wHlike

(Py Cost price or market price whichever is lower
2ILés e (i) shos dow @ramger Gmpeurar oSG

15
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51. Balance sheet shows the of business
@muy flevevd @dllider pped @samer Sibluerd
(A) Profitability (Py Financial position
@aoru aldlgD Hlg Hleneenio
(C) Sales (D) Purchases
efllhLiener Qamerpged

52. Accrued interest on investment will be shown
wpedhsafier Bg Qup Ceumguw eul_ig

(A)  On the credit side of Profit and Loss A/c only
Qeru BUL samddler eure| Us&ESIH® L HID erpslu@Ib

(B) On the Asset side of Balance sheet only
@muy Heoos @huer Qersg LsssHd WD sTaTdlssuLED

(g/ On the Credit side of the P&L A/c and Asset side of Balance sheet
@eru UL &/ ey ussd wHML AUy Heow Ghluy Csrsg yswapdle
er(psLL({ID

(D) On the Debit side of P&L A/c and Asset side of the balance sheet
@eru prLL &/@ udm ussb wppbd Gouy Heoe EHudd Csrgs ussd
GT(PsULPIWL

53. If there is no existing provision for doubtful debts, provision created for doubtful
debt is
QUTTT PUSESLET §§&E ggb Qoars Haauie, ydu ey ussL 6 @&i&E
(A) Debited to Bad debts A/c
eunynd sLen samddld uHEMDWYSLILEHLD
(B) Debited to Sundry Debtors A/c
upue sLamaiser samsdled LuHEDWSLILED
(C) Credited to Bad debts A/c
uMyTésL 6 samsdld aurbeiwpsiiu@b

(DY Debited to P&L Alc
QU BLU L samddled unpEnwsiuGD
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o4.

55.

While preparing the Trial Balance, the accountant finds that the total of the debit
coloumn is short by Re 3,000. This difference will be
@ruumniey surfissdear upm LSH e5.5,000/- Gopeuns o erarg s@TLHlULLEEDS.
@ps HsHwngd
(y Debited to Suspense A/c
SAMGG Sasdad LUHEMsLILIELD
(B) Credited to Suspense Alc
SATMTDSF SeTddled aure eT(pSLILHIb
(C)  Adjusted to any of debit balance
upmt usHuler gCaayd G samsdle &fl QeuwiuBb

(D) Adjusted to any of crebit balance
arey usHudd gCseb e samsdld &fl elwiu@Bb

Furniture A/c showing details as below

¥
Jan.1  Furniture in hand 2,000
Jan.1  Purchase of Furniture for cash 4,000
Jan 30. Sold Furniture 400

Balance of Furniture will be

Gereumd efaurmsellamhg @nd @rlou CsibbsHés :

eb.

s, 1 S|nDHEE @) (HLIL 2,000

ger, 1 Sienn&ee eurmdluig 4,000

gar, 30  epseer ellHog 400

OIS (LPETET <Bi6n D& V6T

(é)/ Rs. 5,600 Dr. (B) Rs. 6,400 Dr.
£5.5,600 (UpHm) €5.6,400 (LDHMI)

(C) Rs. 5,600 Cr. (D) Rs. 6,400 (Cr.)
£h.5,600 (euyey) 56,400 (euyay)

All the items given in the adjustment will appear at in the final accounts

sfsel_ Do Qamad Qnds saré@saie Cgmemmiid.
(A) One place (B) Two places
@ GLib @ @Lmsefled
(C) Three places (D) Four places
ppen @)L rigatled BrenE, @Lrhsefled
17 008/DD/21
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57. If Closing Capital Rs. 3,20,000
Drawings Rs. 48,000
Additional capital Rs. 80,000
Profit during the yearRs. 96,000
Then Opening Capital will be

Ond s (r5.3,20,000
erhiuy . 48,000
Fn(h B (PH6L £5.80,000

<3| 6LGUTERTIq 60T @)eTULb  ¢1.96,000
aafle QgT_&8 pge.

(A)/ Rs. 1,92,000 (B) Rs. 4,00,000
e51,92,000 e5.4,00,000

(C) Rs.1,28,000 (D) Rs. 2,16,000
(m.1,28,000 (5.2,16,000

58. The two basic measures of liquidity are :

@rer® Sigliuen B eldlgrisar

(A) Inventory turnover and current ratio
Fr&8mUY 8sn wHmib HLiiy eS&gD

W Current profit ratio and liquid ratio
LUy efdlgd whmid Biw &g

(C) Gross profit ratio and operating ratio
Qurss @eru adgh wHnb Quss N850

(D) Current ratio and average collection period
pLUY eldlgh whmib syref auEe &b

59.  Credit sales is obtained from
sLe efpuearenw Pl 2 Fa|lb &aTéHE

(A) Bills receivable Alc (B) Sales Alc
QupsHGNw LIPNEEH S@mTEES Mpuener &/

(C)p Total Debtor Alc (D) Total Creditors Alc

~/ sLannafl&er &/ & sLabCsNT &/(5
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60.

Current assets of a business concern are Rs. 1,00,000 and current liabilities are
Rs.50,000/- current ratio will be

fpeuargder Ly enggéadr ¢h.1,00,000/-,

BLULY QurmitiLseT ¢5.50,000/ -

ereflled, By efldlgib?

2:1 (B) 1:2
W

C) 11 (D) 14

19 008/DD/21
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Number

DEPARTMENTAL EXAMINATIONS
LOCAL FUND AUDIT DEPARTMENT TEST - COMMERCIAL
' BOOK - KEEPING

(Without Books)

Maximum Time : 1 hour Maximum Marks : 40

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE ,
eflfleunen ellewLweflé@b euens ellewrng g e

Read the following instructions carefully before beginning to answer the questions.
denmésené@ e wellss Qsrimi@b ey Spssam_ Sihley@rsamar SaUaNDNE Ligd&a, .

1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.

der_sewar @GOG Gerer aramaflsmass idawns audulmudearn, oL gsrafiear @mguion
o arer s aranaflsmaliorar elleLsar wHuSH Qelwiiueng.

2 In case of doubt, English version is the final.
Aemnsseie spCssllmuden ymde augald Aarpéstiul Herar elamssGer Gmduirang,.
Answer any EIGHT of the following questions.

sremauGuignb e1_ (B el et s Emé@ ellenLwetl.
(8 x 5 =40)

1. Importance of Ledger.
CuCr® swrflggear wpsdlwggied
2 Write the advantages of maintaining Petty Cash.
Hoewenn Qurés g® Lrmoflgseder LWIGTEET
3. Write short notes on :
(a) Amortization
(b) Depletion

(¢) Fixed asset
(d) Residual value

[Turn over



A GHLy euers :

(=) CursQapgseo

(=) Qaumienwwnge

(@) Hleows Qengs

() @md vy 5@4) erdl dliiLy.

4. What is Statement of Affairs?
Hleve ifléens eremmmed ereime?

5. On 01.04.2017 Mr. Ravi introduced a capital of Rs.2,00,000/-. His drawing during the
year was Rs.20,000 and introduced additional capital of Rs.50,000. His balances as
on 31.03.2018 stood as follows :

Rs.

Bank 80,000

Stock at end : 1,00,000

Sundry Debtors 60,000

Furniture 5,000

Cash in hand 5,000

Sundry creditors 25,000

Outstanding expenses 2,000 :

He keeps his accounts on Single entry method. Find the Profit (or) loss for the year

2017.

. gefl 01.04.2017 syermy @5.2,00,000 e QLG Gsmfler Agmmfari. sjeieureriqe
g a@uy @5.20,000 sapsed s @5.50,000. 31.03.2018 siety <eurs Heow

YemeumHommy :
erh.

euridluldpliy 80,000
Qnd s753 1,00,000
upue sLamalsar 60,000
2D 66T 5,000
Qyrésbd 5,000
upue sLalbCsmi 25,000
Bleemeu Qeoveysear . 2,000

Qe garg sansGs®ar ghopl ude; wepuier urmoflgs eumHApri. 2017-1b
2T HETET Sjeurg Qeruid (&) BULsHoer sawmsd(s.
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6.

-

Enter the following in three column cash book of Mr. Anbu.

2017
Jan. 1

A ey eramucuilen BLaugsamssamear wplusd Crrés giige ude) Qaws.

14
16

17

26

2017

GouT.

L U e W N

14
16

17

26

0 v Rk W N

Cash balance in hand
Balance at Bank
Cash sales

Paid into bank

Cash purchases

Received dividend directly by the bank
through ECS

Electricity Bill paid by cash

Received cash from Mr. Kumar and
allowed him discount

Paid Mr. Babu in full settlement of
his account Rs.10,000

Withdrawn cash from ATM for Office use

asuil(pLL Qyréshd
cumiidluflmLiy

Qyrés eflHuener

aundluier uab Qegisduig
Qurréas QasmeTapsed

ECS wenp epad umsngmud Criyguwims
cudludled curey

Wetrgmy &L enrd Clegsdlwig

A @i aaruefLBmhg Qubn Arréstd

SICUHEE SETEHLIG aupmILZ)

Rs.
40,000

50,000
20,000
15,000
12,000

2,000
2,000

11,850
150

9,300
1,500

{h-
40,000

50,000
20,000
15,000
12,000

2,000
2,000

11,850
150

. umy ereTueUhES (STCuaTgWE em5.10,000)

Qrrésd ellssy saéE WPiu558)
ATM (mhg Dieues LWL g H&Ts
Qrrésd T(hS58

9,300

1,500

008/DD/21
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7. Find Rate of Depreciation on Straight Line Method.

Rs.
Cost of Machinery 2,30,000
Installation charges 20,000
Life of Machinery 10 years
Residual value 50,000

CrirCam (_Lpé)g)U.‘ﬂd) Cawiwmer s smems.

€.
QuidrsHer oLssellewe  2,30,000
fnesed Qaway 20,000
vwerefliiy srev 10 ya@m@pser
@mnid wdiy 50,000

8. Prepare a Bank Reconciliation Statement from the following data and find out the
balance as per Pass book

Rs.
1. Balance as per cash book 20,000
2. Cheques deposited but not yet credited 2,000
3. Cheques issued but not presented for payment 3,000
4. - Dividend directly received by the bank 400
5. Rent paid by the bank as per standing instructions 1,000
6. Bank charges 1,200
7. Wrong debit by the bank 600

Qemeupd  efleurrugeners deramp eumdl sflsal b ulgwed swurfsg,
QeCal_igeruilg @mid @@Ly srems :

€.

1. Qurés glgenuy eukid Gmiy ‘ 20,000
2. amdullée Qegussiul L stGsramEeT @)6raid

QUTGUTESHILILTSS) 2,000

3. eflgs snCGrrapeser @erad LMTLIGEILIL TS 3,000

4. Gprgurs cuidluie aurey meaussIUL L LRISTSTWD - 400

5. fleva 2 ggrefearuyg aumdurd QegssiurL aries 1,000

6. oundl sLewrid : 1,200

7. aundlurd sgauprs LHD eSS L g 600
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10.

Prepare a Trial balance from the followi'ng data :
(a) Capital

(b) Bank

(c) Cash

(d) Debtors

(e) Creditors

() Machinery |

(g) Sales return

(h) Purchase return
(1) Opening stock
() Purchases.

Qereumd efleurriseners Qaramr® @prumie] swurflés :

(S31) g

(<) eurnud

(@) Qumésd

(/F)  SLeTTaN&eT

(2) sLaBCHMT

(2ar) @uibdlybd

(e1) eflpuenar Hpriub

() Qamerapged HmLib

() Gsm_&s s7&68lHUY

(@) Qamerapge

Pass Journal entries for the transactions below :
(a) Cash introduced by the Proprietor for Business
(b) Goods purchased by cash

(¢) Cash deﬁosited into bank

(d) Goods sold for cash

(e) Goods sold for credit

008/DD/21
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WPeHEOIUGCULH ufeysdr sms :

(1) Azmfler Agrms wasoralurd @Luul L Qyrésid
(<) Qyrésid Qararpsed

(@) eualudled uertd Gegussws)

() Qrrés eflphuenar

(20) sLer aflhuenar
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